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English Version :
(Use a separate Answer book for each group)

Group—A
Unit |

Answer any two questions of the following: (2 x5)

a)
b)
c)
d)

Distinguish, after Plato, between knowledge and opinion.

What are the characteristics of true knowledge, according to Plato?
What is the Pure Form, according to Aristotle?

God is existent as the 'first cause' of this world — Explain after Aquinas.

Answer any one question of the following: (1 x 15)

a)

b)

Discuss the relation between Form or Universal and particular object in Plato’s theory of
form.

1) Explain with example, Aristotle’s theory of four causes.
i) How does Aristotle reduce the four causes into two causes? Explain. (10 +5)
Unit 11

Answer any two questions of the following: (2 x5)

a)
b)
c)
d)

How does Descartes define God?

Discuss, after Spinoza, the relation between substance and attribute.

Why did Descartes cast doubt on mathematical propositions? Explain.
What is meant by 'monads are windowless', according to Leibniz? Explain.

Answer any one question of the following: (1 x 15)

a)

b)

i) Explain, after Descartes, the criterion of truth.

i) How does Descartes explain error?

iii) Examine how far this criterion of truth is acceptable? (6 +4+5)

i)  What is Pantheism?

il) Is Spinoza a pantheist? Explain fully. (5 +10)
or,

i)  What is Truth of Fact?

i) Discuss, after Leibniz, the distinction between Truths of Fact and Truths of Reason. (10 +5)

Group—-B
Unit |

Answer any two questions of the following: (2x5)

a)
b)

c)
d)

What is complementary class? Explain with example.

Briefly explain the rules of the distribution of terms.

Are two propositions necessarily contradictory to each other if one is true and the other is

false? Justify.

Contrapose the following sentences:-

(i)  Only animals are mortal. (2.5)
(i) No communist are non-Pacifist. (2.5)

(3)



6. Answer any one question of the following:

a) (i)
(i)

(iii)

b) (i)

(i)

'No squares are Circles' — Traditionally, does this Proposition have a contrary? Give
reasons for your answer.

State the rules of validity of mixed hypothetical syllogism. Determine the form of the
following argument and judge its validity:

If this syllogism does not commit the fallacy of affirming the consequence, then this
syllogism is valid. This syllogism is valid. Therefore this syllogism does not commit
the fallacy of affirming the consequent.

Translate the following sentences into logical forms of categorical proposition :-

() None think the fools great but the fools themselves.

(1)  Few men are acquainted with themselves.

(111 Athenians are all Greek.

(1V) Buddhists are not only the atheists.

(V) There are honest business men.

Test the validity by the means of Venn diagram (any three):-

(I)  No enthymemes are complete, so this argument is incomplete.

(1) Netaji is a patriot, but he is not a marxist. So some patriots are not marxist.

(I AAA-2

(IvV) EIO-3

How many classes may be represented in a diagram containing two overlapping
circles?

Unit 11

Answer any two questions of the following:

a) What is induction by simple enumeration?

b) Why does Mill introduce the experimental method as the method of determining causality?
Explain.

c) What is crucial experiment?

d) Explain the a-priori theory of Probability.

Answer any one question of the following:

a) What is explanation? Distinguish between scientific explanation and non-scientific
explanation.

b) (i)
(i)

Explain the 'addition theorem' in Probability Calculation.

Compute the Probability of any three of the following:

(I)  What is the probability of getting at least one tail and at most one tail in three
tosses of a coin.

(1) Suppose there are six red balls, four white balls and five black balls, in an urn.
If three balls are down successively, than what is the probability of getting
three balls of the same colour?

(1) In a bookfare there are five similar entrances. Four friends have come to visit
the bookfare. What is the probability of their entering the fare by the same
entrance?

(IV) What is the probability of getting three black cards in three successive draws of
a card from a deck of cards?

(4)

(1 x15)

(5)
(2+3)

(1x5)

(3x4)

3)

(2x5)

(1 x 15)

(3+12)

3)
(3x4)



